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TESO (B BN - TEFO BE) BN -
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BIRRROEE oo /m? %182 58 BERAROER |1 oon/m e85 R
HOKEE tEE |HOAEE tEE |hOAEX tEE |HOAEX tEE NOKES +EE |AOKES +EE |AOKEE +REE |HOKEE +R%
OILBX R |035EX 0ES (0FLEX oms |035EX 0E: OLBX R 058X DES (03LEX oms 035EX 0E:
DED DED DED DEHED DED DED DED DED
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 = = 9918 | 1.00 = = 1160 217 ~
2 ~ 3 - - 9918 | 1.00 - - 1160 217 ~
3 ~ 4 - - | 10000 100 - - 1179 220 ~
4 ~ 5 13044 100 | 10000  1.00 - - 1311 | 245 ~
5 ~ 6 13044 100 | 10000  1.00 - - 1330 249 ~
6 ~ 7 13443 100 | 10000  1.00 - - 1330 249 ~
7 ~ 8 13443 100 | 10000  1.00 - - 1277 239 ~
8 ~ 9 13205 100 | 10000  1.00 - - 1233 230 ~
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